85[0 H AP EFIE KEKRIR
20094 9H3H~6H
HERT)—2T—IL

% 3 B UbCHEAR—YKEF—LHET—4 (2 2 HE)

Ta—MREBEHK nN=9%l
No K4 ZE|l N 5m 7A—4— hyhMY hvh- N7— NFILT4 &t 7=l
$1—h Y1—b Y1—h Y1—h &2y, 7L— Y1—h = " FHE BX F-b)
17l #BEFF 00 00 00 00 00 00 00 00 0 0
2|14k ER 11 00 00 10 32 00 00 53 0 0
3 00 00 00 00 00 00 00 00 0 0
AlK¥ B&EF 00 00 00 00 55 00 00 55 1 1
5| K% FRIE 00 00 00 00 00 00 00 00 0 0
6(FaF EZFE 10 10 00 10 44 10 00 84 2 1
715 H8 FHER 21 00 00 10 22 21 00 74 2 2
8|%H RBHEF 00 00 22 00 21 00 00 43 0 1
9|NiE iE 00 00 00 00 11 00 00 11 0 0
10|E# MmEK 11 00 00 00 00 11 00 22 1 0
114 =4 00 00 11 00 00 00 00 11 0 0
122(8# EY 10 00 20 00 22 10 22 84 3 0
13|&@ M&E 42 00 00 33 43 20 00 138 0 0
14| KP8 #4{Z 00 00 00 00 00 00 00 00 0 0
15[ HBE 00 00 53 00 2 1 00 00 7 4 2 0
F—LHESE 105 10 10 6 63 25 21 72 22 61 39 11 5 0
F—LsriEEEt 97 10 75 42 32 30 00 27 16 of o0 o
PN - T—ILIZRAE 2a— b &T—ILF—/\—E—T =
FAmOvaheIR ML 5m 70—4— NyrY hvs— NT)— NFIVT4 &t w—JF
1Al #BEFF 42 10 75 42 32 30 00 22 11 50.0%

YERk: (BF) BAIKKER
KERE B REBAITED



